Write the equation of this parabola:
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The x-intercepts of a parabola are 2 and 8,
find the equation for the Line of Symmetry.

b%
D
24510
T -

1. Wirite this function in Standard Form:
y = 2(x+5)? -
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2. Wirite this function in Vertex Formj
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Forms for the Equation of a Quadratic

Intercept Form

y=ax+bx+c | y=ax-h?+k y =(x-m)(x+n)
LOS: x = i Vertex: (h,k) LOS: x= avg of

2a x-int.
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Vertex: (E ) LOS: x=h |Vertex: ( 3 )

., Replace x -int: Replace x . .. Replace x

y - int: with zero C y ;/twitshNZ?)r'(I? " y - int: with zero
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Intercept Form (Factored Form)

Y = (x-m)(x+n)

. Find x-intercepts first: 0= (x-m)(x+n)

&t = My —N

m+—N
Find LOS: x = average of the x-int =

Find the Vertex ( LOS, [)\

Find y-int: Replace x with zero.
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